
PROFESSIONAL EXAMINATION BOARD
Jail Department Recruitment Exam 2015

8th December 2015, 12:00 PM
Topic:­ General Knowledge
1)

Question Stimulus :­

Which project is developed over sone river and at which place ?/कौन सी प⮜रयोजना सोन नद壨氿 के
ऊपर 径वक铇सत कᅰ गई ह ैऔर यह ᦃ玄कस जगह पर ह ै?

Baragi project Jabalpur/बरगी प⮜रयोजना, जबलपरु

Rajghat project Lalitpur/राजघाट प⮜रयोजना, ल铇लतपरु

Bansagar project, Shahdol/बाणसागर प⮜रयोजना, शहडोल

Ha lali project Vidisha/हलाल壨氿प⮜रयोजना, 径व楂दशा

Correct Answer :­Bansagar project, Shahdol/बाणसागर प⮜रयोजना, शहडोल 

2)

Question Stimulus :­

Which is M.P’s biggest national park? / मڞ뻕य Კ經दशे म몛丿 सबस ेबड़ा रा迉ׄ흏鈥壨氿य उ磐濞यान कौन सा ह?ै

Kanha­Kisli National Park/ का驐⣯हा-ᦃ玄कसल壨氿 रा迉ׄ흏鈥壨氿य उ磐濞यान

Van­Vihar National Park/ वन-䵶꩛बहार रा迉ׄ흏鈥壨氿य उ磐濞यान

Sanjay National Park/ सजंय रा迉ׄ흏鈥壨氿य उ磐濞यान

Panna National Park/ प驐⣯ना नशेनल पाक䎓卵

Correct Answer :­Kanha­Kisli National Park/ का驐⣯हा-ᦃ玄कसल壨氿 रा迉ׄ흏鈥壨氿य उ磐濞यान 

3)

Question Stimulus :­

Arrange these local bodies in ascending order according to their rank? / उनकᅰ रक के अनसुार
आरोह壨氿 檦괿म म몛丿 इन 鎝थानीय 뽜麫नकाय⸟ⷺ को 艼뮥यवि鎝थत कर몛丿?



Nagar Palika,  Nagar Nigam, Nagar Panchayat / नगर पा铇लका, नगर
뽜麫नगम, नगर पचंायत

Nagar Panchayat, Nagar Nigam, Nagar Palika / नगर पचंायत, नगर 뽜麫नगम, नगर पा铇लका

Nagar Panchayat, Nagar Palika, Nagar Nigam / नगर पचंायत, नगर पा铇लका, नगर 뽜麫नगम

Nagar Nigam, Nagar Palika, Nagar Panchayat/ नगर 뽜麫नगम, नगर पा铇लका, नगर पचंायत

Correct Answer :­Nagar Panchayat, Nagar Palika, Nagar Nigam / नगर पचंायत, नगर पा铇लका,
नगर 뽜麫नगम 

4)

Question Stimulus :­

Currently, Hindi festival was held at:/वत䎓卵मान म몛丿, 楂हदं壨氿 उ�सव का आयोजन कहा ँᦃ玄कया गया:

Bhopal/भोपाल

Indore/इदंौर

Jabalpur/जबलपरु

Gwalior/棽Ⲥवा铇लयर

Correct Answer :­Bhopal/भोपाल 

5)

Question Stimulus :­

Mark the incorrect match./गलत उ�तर को 뽜麫नशान लगाए.ं

Wankhede stadium­ Mumbai/वानखड़े े鎝ट抉े佼डयम- मुंबई

National Stadium­Delhi/नशेनल 鎝ट抉े佼डयम-楂द捤誁ल壨氿

Ranjit Stadium­Ahmedabad/रजंीत 鎝ट抉े佼डयम-अहमदाबाद

Eden Garden­Kolkata/ईडन गाड䎓卵न-कोलकाता

Correct Answer :­Ranjit Stadium­Ahmedabad/रजंीत 鎝ट抉े佼डयम-अहमदाबाद 



6)

Question Stimulus :­

Aga Khan Cup is awarded for which game?/आगा खान कप को ᦃ玄कस खले के 铇लए Კ經दान ᦃ玄कया जाता ह?ै

Hockey/हॉकᅰ

Base­ball/बसे बाल

Football/फुटबाल

Swimming/तरैाकᅰ

Correct Answer :­Hockey/हॉकᅰ 

7)

Question Stimulus :­

What is the Northernmost Point of India? / उ�तर म몛丿 भारत का अ뽜麫तम 䵶꩛बदं ुकौन सा  ह?ै

Leh and Ladakh / लहे और ल哪੪ाख

Kashmir Valley / कꜤꪔमीर घाट壨氿

Indira point /इं楂दरा 㽴껦वाइटं

Siachen Glacier near Himachal Pradesh / 楂हमाचल Კ經दशे के पास 铇सया乱चन 棽Ⲥले铇शयर

Correct Answer :­Indira point /इं楂दरा 㽴껦वाइटं 

8)

Question Stimulus :­

Who was the first Indian in Space?/अतं⮜र勶滏 म몛丿 भारत का पहला 艼뮥यिꅴ퓫त कौन था?

Rakesh Sharma/राकेश शमा䎓卵

Puneet Sharma/पनुीत शमा䎓卵

Charan Singh/चरण铇सहं



Manpreet Singh/मनᲙ經ीत 铇सहं

Correct Answer :­Rakesh Sharma/राकेश शमा䎓卵 

9)

Question Stimulus :­

Tarapur Atomic power station is located at which state? /तारापरु परमाण ु䵶꩛बजल壨氿 鎝टशेन ᦃ玄कस रा䟷殐य
म몛丿 ि鎝थत ह?ै

Maharashtra/महारा迉ׄ흏鈥

Rajasthan/राज鎝थान

Gujarat/गजुरात

Tamil Nadu/त铇मलनाडू

Correct Answer :­Maharashtra/महारा迉ׄ흏鈥 

10)

Question Stimulus :­

Who wrote the national song of India?/भारत का रा迉ׄ흏鈥壨氿य गीत ᦃ玄कसन े铇लखा था?

Mahatma Gandhi/महा�मा गाधंी

Bankim Chandra Chatterjee / बकंᅰम च驐⣯䞃﻿ चटज烸信

B.G. Tilak/बीजी 뽜麫तलक

None of these/कोई भी नह壨氿ं

Correct Answer :­Bankim Chandra Chatterjee / बकंᅰम च驐⣯䞃﻿ चटज烸信 

11)

Question Stimulus :­

From whom did the British take away the famous diamond Koh­i­noor to send it to Queen
Victoria?/ᦃ玄कसस े䵶꩛ه麄楂टश न ेमहारानी 径वꅴ퓫टो⮜रया को दने ेके 铇लए Კ經铇स덒ಯ को楂हनरू ह壨氿रा 铇लया था?

Maharaja Ranjit Singh/महाराजा रणजीत 铇सहं



Maharaja Dalip Singh/महाराजा 楂दल壨氿प 铇सहं

Nadir Shah/नाद壨氿र शाह

Ahmed Shah Abdali/अहमद शाह अ뮗硝दाल壨氿

Correct Answer :­Maharaja Dalip Singh/महाराजा 楂दल壨氿प 铇सहं 

12)

Question Stimulus :­

Who founded The Mohemmadan Anglo­Oriental College at Aligarh?/अल壨氿गढ़ म몛丿 ᦃ玄कसके 磐濞वारा

मोह㸊꣟मद ए棽ंⲤलो-ओ⮜रयटंल कॉलजे 鎝था径पत ᦃ玄कया गया था?

Md.Ali Jinnah/मो. अल壨氿 िज驐⣯ना

Mohammad Ali/मोह㸊꣟मद अल壨氿

Saukat Ali/शौकत अल壨氿

Sir Syed Ahmed Khan/सर सयैद अहमद खान

Correct Answer :­Sir Syed Ahmed Khan/सर सयैद अहमद खान 

13)

Question Stimulus :­

Who gave the name ‘Indian National Congress’?/'भारतीय रा迉ׄ흏鈥壨氿य का貰◷से' नाम ᦃ玄कसके 磐濞वारा 楂दया गया
था ?

S. N. Banerjee/एस एन बनज烸信

Feroz Shah Mehta/ᦃ玄फरोजशाह महेता

Dadabhai Naoroji/दादाभाई नौरोजी

M. G. Ranade/एम जी रानाडे

Correct Answer :­Dadabhai Naoroji/दादाभाई नौरोजी 

14)



Question Stimulus :­

Who was Aryabhatta?/ आय䎓卵भ씬  कौन  थ?े

A Poet/क径व

A Physicist/भौ뽜麫तक 径व嘊광ानी

A Mathematician/गꞾ疭णत嘊광

A  Medical practitioner/乱चᦃ玄क�सक

Correct Answer :­A Mathematician/गꞾ疭णत嘊광 

15)

Question Stimulus :­

Which countries are bordered by 38th parallel? / 38 वा ंसमानातंर ᦃ玄कनके बीच सीमा ह?ै

North and south Korea/उ�तर और द쳨쯆勶滏ण को⮜रया

Afghanistan and Pakistan/अफगा뽜麫न鎝तान और पाᦃ玄क鎝तान

USA and Canada/सयंꅴ퓫त रा䟷殐य अमे⮜रका और कनाडा

Germany and Poland/जम䎓卵नी और पोलड

Correct Answer :­North and south Korea/उ�तर और द쳨쯆勶滏ण को⮜रया 

16)

Question Stimulus :­

Where is World’s highest waterfall ,”Salto Angel Falls “  situated ?/द뽜麫नया का
सबस ेऊंचा झरना, "सा捤誁टो एि驐⣯जल जलᲙ經पात" कहा ँि鎝थत ह?ै

Canada/कनाडा

Venezuela/वनेजेएुला

America/अमे⮜रका



Australia/ऑ鎝흏鈥े铇लया

Correct Answer :­Venezuela/वनेजेएुला 

17)

Question Stimulus :­

What kind of vegetation is Prairie? / Კ經येर壨氿 ᦃ玄कस Კ經कार कᅰ वन鎝प뽜麫त ह?ै

Tropical grassland/ ऊ迉ׄणक楂टबधंीय चरागाह

Temperate grassland/ शीतो迉ׄण चरागाह

Desert/ रे乱ग鎝तान

Sub­Tropical grassland/ उप-उ迉ׄणक楂टबधंीय चरागाह

Correct Answer :­Temperate grassland/ शीतो迉ׄण चरागाह 

18)

Question Stimulus :­

Mukhbarat is the intelligence agency of which country?/म᧒䄳बरत कहा ंकᅰ खᦃ玄फया एज몛丿सी ह ै?

Israel/इजराइल

Egypt/铇म踘

Iraq/इराक

India/भारत

Correct Answer :­Egypt/铇म踘 

19)

Question Stimulus :­

Singapore is the world’s healthiest country according to the survey. This ranking is
according to the data of which association/s? / 铇सगंापरु 径वꜤꪔव का सबस े鎝व閽誖य दशे ह। यह सव숥쏪 ᦃ玄कस

स鎝था के आकंड़⸟ⷺ के अनसुार हआु ह?

United Nations/ सयंꅴ퓫त रा迉ׄ흏鈥



World Bank/ 径वꜤꪔव बक

World Health Organizations/ 径वꜤꪔव 鎝वा鎝閽誖य सगंठन

All of the above/ उपय䎓ु卵ꅴ퓫त सभी

Correct Answer :­All of the above/ उपय䎓ु卵ꅴ퓫त सभी 

20)

Question Stimulus :­

Which of the following State Governments approved mandatory Global Positioning
System (GPS) in all public transport vehicles, so as to ensure safety of commuters,
especially women?/या䵶꩛왑瑑य⸟ⷺ, खासकर म楂हलाओ ंकᅰ सरु勶滏ा स뽜麫निꜤꪔचत करन ेके 铇लए 뽜麫न㸊꣟न铇लꞾ疭खत रा䟷殐य सरकार ने
कहा ंसभी साव䎓卵ज뽜麫नक प⮜रवहन वाहन⸟ⷺ म몛丿 अ뽜麫नवाय䎓卵 棽Ⲥलोबल पोिजश뽜麫नगं 铇स鎝टम (जीपीएस) को मजंरू壨氿 द ेद壨氿?

Delhi/楂द捤誁ल壨氿

Maharashtra/महारा迉ׄ흏鈥

Uttar Pradesh/उ�तर Კ經दशे

Kerala/केरल

Correct Answer :­Delhi/楂द捤誁ल壨氿 

21)

Question Stimulus :­

The Prime Minister Narendra Modi recently inaugurated India’s first solar­powered court
in Khunti district of which of the following states?/Კ經धानम왑瑑ी नर몛丿䞃﻿ मोद壨氿 ᦃ玄कस रा䟷殐य म몛丿 हाल ह壨氿 म몛丿 खूंट壨氿
िजल ेम몛丿 भारत कᅰ पहल壨氿 सौर ऊजा䎓卵 सचंा铇लत अदालत का उ磐濞घाटन ᦃ玄कया?

Odisha/उडीसा

Harayana/ह⮜रयाणा

Uttar Pradesh/उ�तर Კ經दशे

Jharkhand/झारखडं

Correct Answer :­Jharkhand/झारखडं 



22)

Question Stimulus :­

In which city Prime Minister Narendra Modi laid the foundation stone of a world­class
memorial for constitution­maker Dr. Bhimrao Ambedkar?/ᦃ玄कस शहर म몛丿 Კ經धानम왑瑑ी नर몛丿䞃﻿ मोद壨氿
स径वधान 뽜麫नमा䎓卵ता डॉ भीमराव अ㸊꣟बडेकर के 铇लए एक 径वꜤꪔव 鎝तर壨氿य 鎝मारक का 铇शला驐⣯यास ᦃ玄कया?

Pune/पनूा

Bangalore/ब몛丿गल分㲆

Mumbai/मुंबई

Meerut/मरेठ

Correct Answer :­Mumbai/मुंबई 

23)

Question Stimulus :­

Who won the women’s doubles title of the Wuhan Open 2015?/ᦃ玄कसन ेवहुान ओपन 2015 का
म楂हला यगुल Ꞿ疭खताब जीता?

Irina­Camelia Begu and Monica Niculescu/इ⮜रना-कैमे铇लया बगे ूऔर मो뽜麫नका 뽜麫नचलु鎝ेकु

Sania Mirza and Martina Hingis/सा뽜麫नया 铇मजा䎓卵 और मा楂ट䎓卵ना 楂ह乱गस

Simon Biles and Martin Lewis/铇समोन 䵶꩛ब捤誁स और मा楂ट䎓卵न लईुस

Sunil Grover and Anastasia Rodionova/सनुील 貰◷ोवर और अना鎝ता铇सया रो抉佼डयोनोवा

Correct Answer :­Sania Mirza and Martina Hingis/सा뽜麫नया 铇मजा䎓卵 और मा楂ट䎓卵ना 楂ह乱गस 

24)

Question Stimulus :­

Who is considered as the Architect of the India Constitution?/ᦃ玄कस ेभारतीय स径वधान के वा鎝तकुार
के ꪎप म몛丿 ᦃ玄कस ेजाना जाता ह?ै

Mahatma Gandhi/महा�मा गाधंी

B.R. Ambedkar/बी.आर. अ㸊꣟बडेकर



Jawaharlal Nehru/जवाहर लाल नहेꪎ

M.N. Roy/एम.एन.रॉय

Correct Answer :­B.R. Ambedkar/बी.आर. अ㸊꣟बडेकर 

25)

Question Stimulus :­

Who proposed the Preamble before the drafting committee of the Constitution? / ᦃ玄कसने
स径वधान कᅰ मसौदा स铇म뽜麫त के सम勶滏 Კ經鎝तावना Კ經鎝ताव रखा?

Jawaharlal Nehru/जवाहर लाल नहेꪎ

B.R. Ambedkar/बी.आर. अ㸊꣟बडेकर

B.N. Rao/बी एन राव

Mahatma Gandhi/महा�मा गाधंी

Correct Answer :­Jawaharlal Nehru/जवाहर लाल नहेꪎ 

26)

Question Stimulus :­

When was the First General Election of the Lok Sabha held?/लोकसभा के पहल ेआम चनुाव का
आयोजन कब ᦃ玄कया गया था?

1950 – 51

1951 – 52

1952 – 53

1956 – 57

Correct Answer :­1951 – 52 

27)

Question Stimulus :­

‘Dual citizenship’ is a feature which kind of government?/'दोहर壨氿 नाग⮜रकता' ᦃ玄कस Კ經कार कᅰ सरकार



कᅰ एक 径वशषेता ह ै?

Unitary government/ऐᦃ玄कक सरकार

Federal government/सघंीय सरकार

Parliamentary government/ससंद壨氿य सरकार

Presidential government/रा迉ׄ흏鈥प뽜麫त कᅰ सरकार

Correct Answer :­Federal government/सघंीय सरकार 

28)

Question Stimulus :­

Who is the author of “A Passage to England”?/"इ棽ंⲤलड के 铇लए एक पसैजे 'के लखेक कौन ह?ै

E.M. Forster/ई एम फोर鎝टर

Nirad C. Chaudhari/뽜麫नरदा सी चौधर壨氿

G.B. Shaw/जी बी शॉ

Winston Churchill/径व鎝टन च乱च䎓卵ल

Correct Answer :­Nirad C. Chaudhari/뽜麫नरदा सी चौधर壨氿 

29)

Question Stimulus :­

Who is the author of the book ‘Courts And Their Judgements’?/प鎝तक 'कोट䎓卵 और उनके 뽜麫नण䎓卵य' के
लखेक कौन ह?

Justice Mr. V.R. Krishna Iyer/驐⣯यायम뽜麫त䎓卵 俁爌ी वी आर कृ迉ׄणा अ瞿༷यर

Arun Shourie/अ分㲆ण शौर壨氿

F.S. Nariman/एफ एस नर壨氿मन

Ram Jethmalani/राम जठेमलानी

Correct Answer :­Arun Shourie/अ分㲆ण शौर壨氿 



30)

Question Stimulus :­

Which of the following book was not written by Dr. APJ. Abdul Kalam? / इनम몛丿 स ेकौन सी
प鎝तक डॉ. ए.पी.ज.े अ뮗硝दलु कलाम न ेनह壨氿 ं铇लखी ह?ै

The luminous sparks/ द ल铇मनस 鎝पाक䎓卵

Mission India/ 铇मशन इि驐⣯डया

Development of freedom/ डवेलपेम驐े⣯ट ऑफ 㽴䩔ᅰडम

India 2020/ इि驐⣯डया 2020

Correct Answer :­Development of freedom/ डवेलपेम驐े⣯ट ऑफ 㽴䩔ᅰडम 

Topic:­ General Hindi
1)

Question Stimulus :­

径वभाव के ᦃ玄कतन ेभदे होत ेह?

दो

चार

पाचँ

इनम몛丿 स ेकोई नह壨氿ं

Correct Answer :­दो 

2)

Question Stimulus :­

‘अन’ु उपसग䎓卵 का अथ䎓卵 ह-ै

पास

पीछे



अ乱धकार

सामने

Correct Answer :­पीछ े

3)

Question Stimulus :­

त�सम श뮗硝द का चयन कᅰिजए-

गजूर

गागर

ग⮜रक

गफुा

Correct Answer :­गै⮜रक 

4)

Question Stimulus :­

'इ㇔뎒छुक' म몛丿 Კ經�यय ह-ै

इक

इत

उक

अक

Correct Answer :­उक 

5)

Question Stimulus :­

‘勶滏’  ڞ뻕व뽜麫न ᦃ玄कसके अ驐⣯तग䎓卵त आती ह?ै

मलू 鎝वर



घोष वण䎓卵

सयंꅴ퓫त वण䎓卵

ताल艼뮥य

Correct Answer :­सयंꅴ퓫त वण䎓卵 

6)

Question Stimulus :­

뽜麫न㸊꣟न 径वक捤誁प⸟ⷺ म몛丿 स ेᦃ玄कसी एक कᅰ वत䎓卵नी श덒ಯ ह,ै चयन कᅰिजए-

अ乱धयाय

अधयाय

अڞ뻕यय

अڞ뻕याय

Correct Answer :­अڞ뻕याय 

7)

Question Stimulus :­

뽜麫न㸊꣟न 径वक捤誁प⸟ⷺ म몛丿 स ेश덒ಯ वाꅴ퓫य का चयन कᅰिजए?

डाकू न ेचौकᅰ लटू गए

डाकूओ ंन ेचौकᅰ लटू壨氿 गई

डाकुओ ंस ेचौकᅰ लटू壨氿 गई

डाकुओ ं磐濞वारा चौकᅰ लटू壨氿 गई

Correct Answer :­डाकुओ ं磐濞वारा चौकᅰ लटू壨氿 गई 

8)

Question Stimulus :­



뽜麫नि㸊꣟驐⣯लꞾ疭खत वाꅴ퓫य के 铇लय ेउसके नीच े楂दय ेगय े径वक捤誁प⸟ⷺ म몛丿 स ेवाꅴ퓫य के Კ經कार को 乱चि驐⣯हत कᅰिजए-

“शम䎓卵 के मार ेमीना स ेऊपर दखेा भी नह壨氿 ंजाता।”

कत䎓卵 वा㇔뎒य

कम䎓卵 वा㇔뎒 य

भाव वा㇔뎒 य

इनम몛丿 स ेकोई नह壨氿ं

Correct Answer :­भाव वा㇔뎒 य 

9)

Question Stimulus :­

‘इहलोक’ का 径वलोम ह­ै

鎝वग䎓卵लोक

परलोक

भलूोक

म�ृयलुोक

Correct Answer :­परलोक 

10)

Question Stimulus :­

िजस स嘊ं광ा म몛丿 ᦃ玄कसी भाव, दशा, धम䎓卵 या गणु का बोध होता ह,ै उस े________ कहत ेह।

भाव वाचक स嘊ं광ा

䞃﻿艼뮥य वाचक स嘊광ा

समदुाय वाचक स嘊광ा

जा뽜麫त वाचक स嘊광ा



Correct Answer :­भाव वाचक स嘊광ा 

11)

Question Stimulus :­

‘उ铇म䎓卵लशे’ ᦃ玄कस सं乱ध का उदाहरण ह?ै

艼뮥यजंन

鎝वर

径वसग䎓卵

鎝वर 艼뮥यजंन

Correct Answer :­鎝वर 

12)

Question Stimulus :­

अवयव कᅰ ꦵ⥘ि迉ׄट स ेत� प分㲆ष समास के .............. भदे ह।

छ:

तीन

दो

कोई नह壨氿ं

Correct Answer :­दो 

13)

Question Stimulus :­

“वह खनू कहो ᦃ玄कस मतलब का

िजसम몛丿 उबाल का नाम नह壨氿।ं

वह खनू कहो ᦃ玄कस मतलब का

िजसम몛丿 जीवन न रवानी ह।ै”



ᦃ玄कस रस का उदाहरण ह?ै

रौ䞃﻿ रस

वीर रस

क分㲆ण रस

इनम몛丿 स ेकोई नह壨氿ं

Correct Answer :­वीर रस 

14)

Question Stimulus :­

뽜麫न㸊꣟न Კ經Ꜥꪔन के श뮗硝द­य棽Ⲥम के 径वक捤誁प⸟ⷺ म몛丿 स ेसह壨氿 अथ䎓卵­भदे का चयन कᅰिजए­

आमरण­आवरण

म�ृय­ुअमरता

मरन ेतक­परदा

मरना­आवरण

परदा­ल䟷殐जा

Correct Answer :­मरन ेतक­परदा 

15)

Question Stimulus :­

‘खशुब’ू म몛丿 उपसग䎓卵 ह-ै

उत्

खशु

खु

उꅴ퓫 त सभी

Correct Answer :­खशु 



16)

Question Stimulus :­

뽜麫न㸊꣟नाᦃ玄कत म몛丿 स ेकौन सा श뮗硝द कृत Კ經�यय स ेबना ह?ै

रगंत

धमक

अधंरेा

हसँी

Correct Answer :­हसँी 

17)

Question Stimulus :­

‘प’ वग䎓卵 कᅰ ڞ뻕व뽜麫नय⸟ⷺ का उ㇔뎒चारण 鎝थान ह­ै

ओ迉ׄ쵧␙य

कं쵧␙य

द�ंय

द驐⣯तो迉ׄ쵧␙य

Correct Answer :­ओ迉ׄ쵧␙य 

18)

Question Stimulus :­

뽜麫न㸊꣟न म몛丿 स ेकोई एक य棽Ⲥम 径वपर壨氿ताथ䎓卵क ह,ै उस ेच뽜麫नए-

楂दन-楂दवस

द⮜र䞃﻿-गर壨氿ब

द壨氿न-दखुी



द뮗硝ब-ूदबगं

Correct Answer :­द뮗硝ब-ूदबगं 

19)

Question Stimulus :­

뽜麫न㸊꣟न श뮗硝द­य棽Ⲥम के 径वक捤誁प⸟ⷺ म몛丿 कोई एक य棽Ⲥम सह壨氿 नह壨氿 ंह,ै गलत य棽Ⲥम का चयन कᅰिजए­

और­ओर

अग䎓卵ला­अगला

दरू­पास

अतंर­अतंस

Correct Answer :­दरू­पास 

20)

Question Stimulus :­

‘िꅴ퓫ल迉ׄट’ का स乱ध 径व㇔뎒छदे होगा-

िꅴ퓫लश+्ट

िꅴ퓫लष+त

िꅴ퓫लश+्त

ꅴ퓫捤誁स+ट

Correct Answer :­िꅴ퓫लश+्त 

21)

Question Stimulus :­

‘पीता㸊꣟ बर’ श뮗硝 द का समास 径व貰◷ह होगा-

पीला प⮜रधान

पीला ह ैअ㸊꣟ बर िजसका



पीला रगं ह ैिजसका

उपय䎓ु卵ꅴ퓫 त सभी

Correct Answer :­पीला ह ैअ㸊꣟ बर िजसका 

22)

Question Stimulus :­

넧ाि驐⣯तमान अलकंार कहलाता ह.ै जब ᦃ玄कसी 径वशषे समानता के कारण दसूर壨氿 व鎝 त ुहोन ेका ............. होता ह।ै

सदंहे

넧म

넧ाि驐⣯त

इनम몛丿 स ेकोई नह壨氿ं

Correct Answer :­넧म 

23)

Question Stimulus :­

उदाहरण 1: “जन ुअशोक अगंार, द壨氿驐⣯ ह म楂䞃﻿का डा⮜र तब।”

उदाहरण 2: “मानो, झमू रह ेह, त分㲆 भी मदं पवन के झ⸟ⷺको स।े”

उपय䎓ु卵ꅴ퓫 त उदाहरण⸟ⷺ म몛丿 वाचक श뮗硝 द च뽜麫नए­

जनु

मानो

उपरोꅴ퓫त दोन⸟ⷺ 

इनम몛丿 स ेकोई नह壨氿 ं

Correct Answer :­उपरोꅴ퓫त दोन⸟ⷺ  

24)



Question Stimulus :­

‘सहकार’ का पया䎓卵यवाची ह­ै

फैला

आय

साथी

सयू䎓卵

Correct Answer :­साथी 

25)

Question Stimulus :­

“बधे दनेा” महुावर ेका सह壨氿 अथ䎓卵 ह-ै

छदे करना

ग茵蘒ढा करना

प왑瑑 भजेना

तीर चलाना

Correct Answer :­छदे करना 

26)

Question Stimulus :­

“मखू䎓卵 होना” 뽜麫न㸊꣟ न म몛丿 स ेᦃ玄कस महुावर ेका अथ䎓卵 ह-ै

अꅴ퓫 ल का अजीण䎓卵 होना

अꅴ퓫 ल का दꜤꪔ मन होना

अꅴ퓫 ल 䟷殐 यादा लगाना

कोई नह壨氿ं



Correct Answer :­अꅴ퓫 ल का दꜤꪔ मन होना 

27)

Question Stimulus :­

“अधजल गगर壨氿 छलकत जाए” लोकोिꅴ퓫त का सह壨氿 अथ䎓卵 ह?ै

गगर壨氿 म몛丿 छदे होना

बकेायद ेके काम करना

艼뮥यथ䎓卵 कᅰ बात몛丿 करना

कम 嘊광ान का अ乱धक Კ經दश䎓卵न

Correct Answer :­कम 嘊광ान का अ乱धक Კ經दश䎓卵न 

28)

Question Stimulus :­

“घर आए नाग न पिूजए बामी पजून आए” लोकोिꅴ퓫त का सह壨氿 अथ䎓卵 ह­ै

कोरा 楂दखावा करना होगा

♩蚳ꅴ퓫त पर काम न करना

पꜤꪔचाताप करना

अवसर का लाभ न उठाना और बाद म몛丿 उसके 铇लए परशेान रहना

Correct Answer :­अवसर का लाभ न उठाना और बाद म몛丿 उसके 铇लए परशेान रहना 

29)

Question Stimulus :­

‘द壨氿प’ का पया䎓卵यवाची नह壨氿 ंह-ै

द壨氿पक

Კ經द壨氿प

द壨氿पा



䟷殐यो뽜麫त鎝तभं

Correct Answer :­द壨氿पा 

30)

Question Stimulus :­

뽜麫न㸊꣟न铇लꞾ疭खत त�सम-त⚼ꚉव म몛丿 स ेकौन-सा 径वक捤誁प अश덒ಯ ह?ै

गाठँ-गावँ

गाय-गौ

खते-勶滏왑瑑

खीर-勶滏ीर

Correct Answer :­गाठँ-गावँ 

Topic:­ General English
1)

Question Stimulus :­

I have been thinking about you and looking ____ you all day.

for

by

on

over

Correct Answer :­for 

2)

Question Stimulus :­

The frog jumped ____ the well.

in

across



into

along

Correct Answer :­into 

3)

Question Stimulus :­

Pick out the appropriate word to join the two sentences given below.

 

I like him.

He is hard working.

so

since

because

unless

Correct Answer :­because 

4)

Question Stimulus :­

Knowledge acts as a guiding light which dispels ignorance and leads to
enlightenment and liberation.

 

What does  word ‘dispel’ mean ?

Eliminate

Include

Attract

Invite

Correct Answer :­Eliminate 



5)

Question Stimulus :­

Francis Bacon said, “Knowledge is power”. Knowledge comprises the
entire gamut of facts, information and skills acquired by individual and
mankind as a whole.

 

What does  word gamut mean ?

Awareness

Knowledge

Store

Range

Correct Answer :­Range 

6)

Question Stimulus :­

Pick out the appropriate word to join the two sentences given below.

 

The streets were flooded.

We didn’t go further.

and

so

yet

though

Correct Answer :­so 

7)

Question Stimulus :­



He comes  to see us on ________Sunday.

all

the few

some

every

Correct Answer :­every 

8)

Question Stimulus :­

His theory was not ___ on facts.

builds

building

build

built

Correct Answer :­built 

9)

Question Stimulus :­

The wire has to be _____ tightly.

bent

bend

bending

bends

Correct Answer :­bent 

10)

Question Stimulus :­



Find the word which is most similar in meaning to the given word.

 

Harass.

Help

Molest

Assist

 Comfort

Correct Answer :­Molest 

11)

Question Stimulus :­

Find the word which is most similar in meaning to the given word.

 

Impartial.

Biased

Unjust

Prejudiced

Just

Correct Answer :­Just 

12)

Question Stimulus :­

Find the word which is most similar in meaning to the given word.

 

Liberal.

Miser



Generous

Stingy

Malevolent

Correct Answer :­Generous 

13)

Question Stimulus :­

She is ____ pious ____ she cannot miss her morning prayers.

such, so

so, that

such, as

as, as

Correct Answer :­so, that 

14)

Question Stimulus :­

_____ did the principal come into the hall ____ the students stood up.

Hardly, then

No sooner, than

No sooner,then

Not only, but also

Correct Answer :­No sooner, than 

15)

Question Stimulus :­

My uncle, ____ was born overseas, has always been a great traveler.

whom



which

that

who

Correct Answer :­who 

16)

Question Stimulus :­

Replace the understand phrase with a single word.

 

I can’t make out what you’re saying, can you speak loudly ?

write

understand

confirm

listen

Correct Answer :­understand 

17)

Question Stimulus :­

Replace the underlined phrase with a suitable option.

 

I really cannot put up with this kind of attitude.

tolerate

understand

explain

recommend

Correct Answer :­tolerate 



18)

Question Stimulus :­

Find the word which is opposite to the highlighted word from the given
options.

 

Calm

Relaxed

Easy

comfortable

Noisy

Correct Answer :­Noisy 

19)

Question Stimulus :­

I will give him your message__________ I see him

whenever

whatever

where

however

Correct Answer :­whenever 

20)

Question Stimulus :­

He keeps on asking for money __________ he belongs to a rich family.

though   

but

still



until

Correct Answer :­though    

21)

Question Stimulus :­

He ______ Over fifty, he was born in 1960?

can

ought to 

shall be

must be

Correct Answer :­must be 

22)

Question Stimulus :­

I _______to pass with a good grade.

expecting

has expected 

have expect

expect

Correct Answer :­expect 

23)

Question Stimulus :­

The bell ________before I reached the school.

have rung

had rung

rang     



rung

Correct Answer :­had rung 

24)

Question Stimulus :­

You must learn how to ______ customers.

deal with

deal by

deal through

deal under

Correct Answer :­deal with 

25)

Question Stimulus :­

My sister is always _________ her success.

confident with

confident about

confident by

confident from

Correct Answer :­confident about 

26)

Question Stimulus :­

Those who work hard should be ________ their success.

certain by

certain off

certain at



certain of

Correct Answer :­certain of 

27)

Question Stimulus :­

Find the word which is most similar in meaning to the given word.

Hazard

Danger

Assurance

Security

Insurance

Correct Answer :­Danger 

28)

Question Stimulus :­

Find the word which is opposite to the highlighted word from the given
options.

Pleasure

Happiness

Pain

Joyousness

Calmness

Correct Answer :­Pain 

29)

Question Stimulus :­

Find the word which is opposite to the highlighted word from the given
options.



Vacant

Occupied

Empty

Void

Vaccum

Correct Answer :­Occupied 

30)

Question Stimulus :­

Find the word which is opposite to the highlighted word from the given
options.

Furious

Angry

Agitated

Calm

Fiery

Correct Answer :­Calm 

Topic:­ General Maths
1)

Question Stimulus :­

If the mean of first n natural numbers is 8 then n=? / पहल壨氿 n Კ經ाकृ뽜麫तक स᧒䄳या का
माڞ뻕य 8 ह ैतो n = ?

10

12

15

20



Correct Answer :­15 

2)

Question Stimulus :­

The median and mean of a frequency distribution are 7 and 6 respectively
then the mode is: / एक बारबंारता 径वतरण कᅰ मािڞ뻕यका और माڞ뻕य 檦괿मशः 7 और 6 ह ैतो उसका
बहलुक होगा:

6

8

9

10

Correct Answer :­9 

3)

Question Stimulus :­

In a Rhombus PQRS, If ∠PRQ = 40o, then ∠PSQ =? /एक समचतभु䎓卵ज PQRS म몛丿 य楂द
∠PRQ = 40o तो ∠PSQ =?

60o

40o

50o

70o

Correct Answer :­50o 

4)

Question Stimulus :­

If the angles of a quadrilateral are in ratio 3:5:9:13. What are the angles of the
quadrilateral? / य楂द एक चतभु䎓ु卵ज के कोण 3:5:9:13 के अनपुात म몛丿 ह ैतो चतभु䎓ु卵ज के कोण ꅴ퓫या ह⸟ⷺग몛丿?

36o, 60o, 108o, 156o



35o, 65o, 110o, 150o

36o, 60o, 132o, 132o

25o, 75o, 108o, 152o

Correct Answer :­36o, 60o, 108o, 156o 

5)

Question Stimulus :­

If   and   , then find the value of f(2) + g(3) / य楂द  

 और     , तो f(2) + g(3) का मान 嘊광ात कᅰिजए?

25

15.5

10

10.5

Correct Answer :­10.5 

6)

Question Stimulus :­

If f(x) = x2 – 2x + 3, then what will be value of    / य楂द f(x) = x2 – 2x +

3, तो   का मान 嘊광ात कᅰिजए

3

4

5

6

Correct Answer :­3 



7)

Question Stimulus :­

If the Co­ordinates of one end of a diameter of a circle are (10, 16) and
the coordinates of its center are (9, 12) find the Co­ordinates of the
other./ य楂द ᦃ玄कसी व�ृत के 艼뮥यास के एक 铇सर ेके 뽜麫नद숥쏪शाकं (10, 16) और उसके क몛丿䞃﻿ के 뽜麫नद숥쏪शाकं (9,
12) ह तो उसके दसूर े铇सर ेके 뽜麫नद숥쏪शाकं 嘊광ात करो।

(4, 7)

(8, 9)

(21, 10)

(8, 8)

Correct Answer :­(8, 8) 

8)

Question Stimulus :­

If    +   = 6, then the value of θ is: / य楂द   +   = 6,
 तो  θ का मान होगा:

90o

45o

0o

30o

Correct Answer :­0o 

9)

Question Stimulus :­

If cot 27   = tan 63   where 27   and 63   are acute angles, then find the
value of . / य楂द cot 27   = tan 63   जहा ँ27   और 63   驐⣯यनू कोण ह ,तो   का मान 嘊광ात
कᅰिजए|



­1

3

1

0

Correct Answer :­1 

10)

Question Stimulus :­

In the survey of the 100 people, it is found 70 people like cricket and 50
like football. 10 people don’t like anything between cricket and football.
Find the number of people like only cricket. / 100 लोग⸟ⷺ के सव숥쏪勶滏ण म몛丿 यह पाया गया
कᅰ 70 लोग ᦃ玄檦괿केट को और 50 लोग फुटबॉल को पसदं करत ेह। 10 लोग ᦃ玄檦괿केट और फुटबॉल म몛丿 स ेकुछ भी
पसदं नह壨氿 ंकरत ेह।ै केवल ᦃ玄檦괿केट को पसदं करन ेवाल ेलोग⸟ⷺ कᅰ स᧒䄳या 嘊광ात कर몛丿।

60

40

120

None of these / इनम ेस ेकोई नह壨氿ं

Correct Answer :­40 

11)

Question Stimulus :­

If A ∪ B = A, then which of the following is always correct? / य楂द A ∪ B = A, तब इनम몛丿
स ेकौन सा सह壨氿 हमशेा ह?ै

A ∪ B = B

A ⊂ B

B ⊂ A

None of these / इनम몛丿 स ेकोई नह壨氿ं



Correct Answer :­B ⊂ A 

12)

Question Stimulus :­

If a number increased by 15% and then decreased by 15%, then the net
percentage change in the number / य楂द एक न㸊꣟बर को 15% बढ़ाया जाय ेऔर ᦃ玄फर 15%
घटाया जाय ेतो उस स᧒䄳या म몛丿 ᦃ玄कतन ेᲙ經뽜麫तशत का प⮜रवत䎓卵न होगा?

22.5% decrease /22.5% कᅰ कमी

2.25% increase /2.25% कᅰ अ乱धकता

2.25 % decrease /2.25%कᅰ कमी

No change / कोई प⮜रवत䎓卵न नह壨氿ं

Correct Answer :­2.25 % decrease /2.25%कᅰ कमी 

13)

Question Stimulus :­

Two numbers are 25% and 20% less than the third number. By how much
percent is the first number to be enhanced to make it equal to the second
number? / दो स᧒䄳याए ंतीसर壨氿 स᧒䄳या स े25% और 20% कम ह। पहल壨氿 स᧒䄳या म몛丿 ᦃ玄कतन ेᲙ經뽜麫तशत कᅰ
व径덒ಯ कᅰ जाए ताᦃ玄क वह दसूर壨氿 स᧒䄳या के बराबर हो जाए?

6 %

5%

25%

33 %

Correct Answer :­6 % 

14)

Question Stimulus :­

The ratio of number of boys and girls in a school is 7:3. If 30% of the boys and



40% of the girls holding scholarship. Find the percent of students who hold the
scholarship. / य楂द एक 径व磐濞यालय म몛丿 लड़क⸟ⷺ और लड़ᦃ玄कय⸟ⷺ का अनपुात 7:3 ह.ै य楂द 30% लड़के और
40% लड़ᦃ玄कया ंछा왑瑑व뽜麫त पात ेह। ᦃ玄कतन े% छा왑瑑 छा왑瑑व뽜麫त पात ेह?

50%

33%

40%

None of these / इनम몛丿 स ेकोई नह壨氿ं

Correct Answer :­33% 

15)

Question Stimulus :­

If 20 men can reap a field in 38 days. In how many days will 19 men reap the
field? / य楂द 20 प分㲆ष 38 楂दन⸟ⷺ म몛丿 एक खते कᅰ कटाई कर सकत ेह तो 19 प分㲆ष ᦃ玄कतन े楂दन⸟ⷺ म몛丿 खते कᅰ
कटाई कर सक몛丿ग?े

21 days

40 days

57 days

19 days

Correct Answer :­40 days 

16)

Question Stimulus :­

A person distributed few pencils among three friends A, B and C in the

ratio of   .What is the minimum number of pens the person should

have? / एक आदमी कुछ प몛丿铇सल अपन ेतीन दो鎝त⸟ⷺ A, B और C को     के अनपुात म몛丿 दतेा ह।ै
उसके पास कम स ेकम ᦃ玄कतनी प몛丿铇सल होनी चा楂हए?

31



62

30

10

Correct Answer :­31 

17)

Question Stimulus :­

A sum of money lent out at simple interest amounts to Rs.2400 in 2 years and
3000 in 5 years. Find the rate % per annum/ कोई रा铇श साधारण 뮗硝याज दर स े2 साल म몛丿 ꪎ.
2400 और 5 साल म몛丿 3000 हो जाती ह।ै व径ष䎓卵क दर का Კ經뽜麫तशत 嘊광ात कर몛丿।

5%

10%

15%

20%

Correct Answer :­10% 

18)

Question Stimulus :­

A sum of money in 3 years becomes Rs.1344 and in 7 years it become
Rs.1536.What is the principal sum where simple rate of interest is to be
charged?/ एक रा铇श 3 साल म몛丿 1344 分㲆. और 7 साल म몛丿 1536 分㲆.हो जाती ह।ै मलू रा铇श ꅴ퓫या ह ैजहाँ
뮗硝याज कᅰ साधारण दर स ेगणना कᅰ जा रह壨氿 ह?ै

Rs.2000

Rs.1200

Rs.800

Rs.1000

Correct Answer :­Rs.1200 

19)



Question Stimulus :­

There are 6 trains between Pune and Mumbai. In how many ways a can a man go
from Mumbai to Pune and return? / पणु ेऔर मुंबई के बीच 6 रलेगा抉佼ड़या ंह। ᦃ玄कतनी तरह स ेएक
आदमी मुंबई स ेपणु ेके 铇लए जा सकता ह ैऔर वापस आ सकता ह?ै

25

36

30

12

Correct Answer :­36 

20)

Question Stimulus :­

Three fair coins are tossed simultaneously. Find the probability of getting at least
two heads. / दो 뽜麫न迉ׄप勶滏 铇सꅴ퓫क⸟ⷺ को एक साथ फ몛丿का गया ह।ै कम स ेकम दो हडे आन ेकᅰ Კ經ा뽜麫यकता 嘊광ात
कर몛丿।

1/2

1/3

3/8

5/8

Correct Answer :­1/2 

21)

Question Stimulus :­

Length and breadth of a lawn are in the ratio of 5:1 and its area is 180 m2.
Find the length of the lawn./ एक लॉन कᅰ ल㸊꣟बाई और चौड़ाई का अनपुात 5:1 ह ैऔर उसका
勶滏왑瑑फल 180 वग䎓卵 मीटर ह।ै लॉन कᅰ लबंाई 嘊광ात कर몛丿।

5 m

30 m



25 m

15 m

Correct Answer :­30 m 

22)

Question Stimulus :­

Find the area of quadrilateral whose diagonal is 20 m long and the lengths of the
perpendiculars from the other two vertices are 12 m and 7 m./ चतभु䎓ु卵ज का 勶滏왑瑑फल 嘊광ात
कर몛丿 िजसका 径वकण䎓卵 20 मीटर लबंा ह ैऔर िजसके अ驐⣯य दो 铇सर⸟ⷺ स े径वकण䎓卵 पर डाल ेगय ेलबंो कᅰ लबंाई 12
मीटर और 7 मीटर ह।ै 

240 m2

120 m2

100 m2

190 m2

Correct Answer :­190 m2 

23)

Question Stimulus :­

Find the volume of a sphere whose surface area is 2464 cm2. / गोल ेका आयतन 嘊광ात

कर몛丿 िजसका प迉ׄठ 勶滏왑瑑फल 2464 समेी2 ह।ै

11498.67 cm3/ 11498.67समेी3

2414.33 cm3/2414.33 समेी3

1358.2 cm3/1358.2 समेी3

None of these./ इनम몛丿 स ेकोई नह壨氿|

Correct Answer :­11498.67 cm3/ 11498.67समेी3 

24)



Question Stimulus :­

The horizontal distance between two trees is 10 m and the angle of depression to
the top of the first as seen from the top of the second, which is h meter high is
45o. Find the difference of the heights of the two trees. / दो पड़े⸟ⷺ के बीच कᅰ 勶滏뽜麫तज दरू壨氿
10 मी और पहल ेपड़े के 铇सर ेस ेदसूर ेपड़े के 铇सर ेका अवनमन कोण 45o ह,ै जो h मी उंचाई कᅰ ह।ै दोन⸟ⷺ पड़ेो
कᅰ ऊँचाई के बीच अतंर 嘊광ात कर몛丿।

10 m/10 मी

10  m/10  मी

30  m/30  मी

20  m/ 20  मी

Correct Answer :­10 m/10 मी 

25)

Question Stimulus :­

Solve the following equations / 뽜麫न㸊꣟न समीकरण⸟ⷺ को हल कर-े

7x + 8y = 35

3x + 7y = 40

(3,7)

(­3,7)

(3,­7)

(­3,­7)

Correct Answer :­(­3,7) 

26)

Question Stimulus :­

Vimla got married 6 years ago. Today her age is   times her age at the



time of marriage. Her son’s age is   times her age. Find the present age of

the son? / 6  वष䎓卵 पवू䎓卵 径वमला का 径ववाह हआु। आज उसकᅰ आय,ु 径ववाह के समय कᅰ आय ुकᅰ    गनुा

ह।ै उसके प왑瑑 कᅰ आय ुउसकᅰ आय ुकᅰ   गनुा ह।ै प왑瑑 कᅰ वत䎓卵मान आय ु嘊광ात कᅰिजए।

3 years /    3 वष䎓卵

5 years/   5 वष䎓卵

4 years/ 4 वष䎓卵

2 years/ 2 वष䎓卵

Correct Answer :­3 years /    3 वष䎓卵 

27)

Question Stimulus :­

Find the center term of ­11, ­7, ­3 …… 45. / ­11, ­7, ­3 …… 45 का मڞ뻕 य पद 嘊광ात
कᅰिजए।

17

13

21

24

Correct Answer :­17 

28)

Question Stimulus :­

How many numbers lie between 10 and 300, which when divide by 5 leave
a remainder 3? / 10 और 300 के बीच ऐसी ᦃ玄कतनी स᧒䄳 याऐ ंह, िजस े5 स ेभाग दने ेपर शषेफल 3
रहता ह।

58



60

56

62

Correct Answer :­58 

29)

Question Stimulus :­

The quadratic equation   has : / 磐濞径वघात समीकरण    के  

two distinct real root / दो 铇भ驐⣯ न वा鎝 त径वक मलू है

two equal real roots / दो बराबर वा鎝 त径वक मलू है

No real roots / काई वा鎝 त径वक मलू नह壨氿 ंहै

More then two real root / दो या अ乱धक वा鎝 त径वक मलू है

Correct Answer :­two equal real roots / दो बराबर वा鎝 त径वक मलू ह ै

30)

Question Stimulus :­

A natural number when increased by 12, equal 160 times its reciprocal. Find the number.
/ एक Კ經ाकृत स᧒䄳 या म몛丿 जब 12 स ेव径덒ಯ कᅰ जाती ह,ै तो वह अपन े艼뮥 य�ु 檦괿म के 160 गनु ेके बराबर हो जाती ह।ै वह स᧒䄳 या
嘊광ात कᅰिजए।

20

8

10

12

Correct Answer :­8 

Topic:­ General Science
1)

Question Stimulus :­



Dark reaction in photosynthesis is called so because/Კ經काश सꜤꪔलषेण म몛丿 अᲙ經का铇शक
अ铇भᦃ玄檦괿या का नाम 楂दया गया ह,ै ꅴ퓫य⸟ⷺᦃ玄क

It does not require light energy/इसम몛丿 Კ經काश कᅰ आवꜤꪔयकता नह壨氿 ंहोती

Cannot occur during daytime/ 楂दन के समय यह सपं驐⣯न नह壨氿 ंहो सकती

Occurs more rapidly at night/ रा䵶꩛왑瑑 के समय ती끔搔 ग뽜麫त स ेहोता है

It can also occur in darkness/ अधंरे ेम몛丿 भी स㸊꣟प驐⣯न हो सकती है

Correct Answer :­It does not require light energy/इसम몛丿 Კ經काश कᅰ आवꜤꪔयकता नह壨氿ं
होती 

2)

Question Stimulus :­

Adam's Apple occurs in?/एडम ए㽴껦पल ᦃ玄कसम ेपाया जाता ह?ै

Buffaloes/ भस म몛丿

Dogs /कु�त ेम몛丿

Human males/ मादा मन迉ׄय म몛丿

Human females/ नर मन迉ׄय म몛丿

Correct Answer :­Human males/ मादा मन迉ׄय म몛丿 

3)

Question Stimulus :­

In which of the following groups of animal, the heart pumps only
deoxygenated blood ?/뽜麫न㸊꣟न म몛丿 स ेजतंओु ंके ᦃ玄कस वग䎓卵 म몛丿 豑褦दय ऑꅴ퓫सीजन र楂हत रꅴ퓫त

को प㸊꣟प करता ह?ै

Fishes/ मछ铇लय⸟ⷺ म몛丿

Reptile/ र㽴े껦ट壨氿铇लया



Birds/ प쳨쯆勶滏य⸟ⷺ म몛丿

Amphibians/ ए㸊꣟फᅰ铇लया

Correct Answer :­Fishes/ मछ铇लय⸟ⷺ म몛丿 

4)

Question Stimulus :­

Excretion means?/उ�सज䎓卵न का ꅴ퓫या अथ䎓卵 ह?ै

Removal of substances present in excess/ अ뽜麫त⮜रिꅴ퓫त मा왑瑑ा म몛丿 उपि鎝थत पदाथ穧⣇ का 뽜麫न迉ׄकासन

Formation of those substances that have some role in the body/ शर壨氿र के 铇लय ेआवꜤꪔयक
पदाथ穧⣇ का 뽜麫नमा䎓卵ण करना

Removal of such substances that have never been part of the body/ ऐस ेपदाथ穧⣇ का
뽜麫न迉ׄकासन जो शर壨氿र का भाग नह壨氿 ंहै

All of the above/ उपरोꅴ퓫त सभी

Correct Answer :­Removal of such substances that have never been part of the body/
ऐस ेपदाथ穧⣇ का 뽜麫न迉ׄकासन जो शर壨氿र का भाग नह壨氿 ंह ै

5)

Question Stimulus :­

Phototropsin is caused by differential distribution of?/Კ經काशानतु䎓卵न ᦃ玄कसके अतंर 径ववरण स ेहोता ह?ै

IAA

Kinetin/ काइने楂टन

Gibberellin/ िज뮗硝बरे铇लन

Abscisic acid/ एब铇स铇सक अ㸊꣟ल

Correct Answer :­Gibberellin/ िज뮗硝बरे铇लन 

6)

Question Stimulus :­



Grafting is most successful in?/कलम बाधंना ᦃ玄कसम몛丿 अ乱धक सफलतम ह?ै

Dicots/ 磐濞径वबीजप왑瑑ी

Monocots/ एकबीजप왑瑑ी

Pteridophytes/ ट몛丿⮜रडोफाइ곤茬स

Bryophytes/ ه麄ायोफाइ곤茬स

Correct Answer :­Dicots/ 磐濞径वबीजप왑瑑ी 

7)

Question Stimulus :­

The wings of bat, locust and pigeon are the example  of ?/चमगादड़, 楂ट茵蘒डा तथा
कबतूर के पखं ᦃ玄कसका उदाहरण ह?ै

Homologous organs/समजात अगं

Analogous organs/ समव뽜麫त अगं

Vestigial organs/ अवशषेी अगं

Exoskeleton/ बा㼢य कंकाल

Correct Answer :­Analogous organs/ समव뽜麫त अगं 

8)

Question Stimulus :­

Carcinogenic chemicals produced during recycling of plastics and
polythene are ?/㽴껦लाि鎝टक तथा पॉल壨氿थीन के पनु䎓卵च檦괿ण के दौरान उ�प驐⣯न कसरज뽜麫नत

रसायन ह?ै

Formaldehyde/ फॉम숥쏪ि捤誁डहाइड

Polycyclic aromatic compounds/ बहचु檦괿ᅰय एरोमे楂टक यौ乱गक

Vinyl chloride/ वाय뽜麫नल ꅴ퓫लोराइ



Dioxins and furans/ डाईऑिꅴ퓫सन व 跳鼿यरूने

Correct Answer :­Dioxins and furans/ डाईऑिꅴ퓫सन व 跳鼿यरूने 

9)

Question Stimulus :­

____gas has maximum percentage on earth./ 뽜麫न㸊꣟न म ेस ेᦃ玄कस गसै का प閽誖वी पर
अ乱धकतम Კ經뽜麫तशत ह?ै

Nitrogen/ नाइ흏鈥ोजन

Oxygen/ ऑꅴ퓫सीजन

Argon/ आग䎓卵न

Hydrogen/ हाइ婝郀ोजन

Correct Answer :­Nitrogen/ नाइ흏鈥ोजन 

10)

Question Stimulus :­

What is the function of ER?/ ER का काय䎓卵 ꅴ퓫या ह?ै

Nucleus/के驐⣯䞃﻿क

Mechanical support/ या䵶꩛왑瑑क समथ䎓卵न

ATP formation/ATP 뽜麫नमा䎓卵ण

Exchange of molecules/ अणओु ंका 径व뽜麫नमय

Correct Answer :­Nucleus/के驐⣯䞃﻿क 

11)

Question Stimulus :­

S.I. unit of G (Gravitional constant) is? / G (ग分㲆�वीय 뽜麫नयताकं) कᅰ S.I. इकाई ह?ै



Nm2 kg–2

Nm kg–2

N kg2M–2

Nkg m–2

Correct Answer :­Nm2 kg–2 

12)

Question Stimulus :­

A ball is thrown vertically upwards then what is the acceleration due to
gravity? / एक ग몛丿द ेऊڞ뻕वा䎓卵धर ऊपर फकᅰ जाती ह ैतो गꪎ�व के कारण �वरण ꅴ퓫या होगा?

is in the direction opposite to the direction of its motion/ कᅰ 楂दशा उसकᅰ ग뽜麫त के 径वपर壨氿त
楂दशा म몛丿 होती है

is in the same direction as the direction of its motion/ उसी 楂दशा म몛丿 ह ैजो उसके ग뽜麫त कᅰ 楂दशा
है

increases as it comes down/ बढ़ता ह ैजसै.ेजसै ेवह नीच ेआती है

become zero at the highest point/ उ㇔뎒चतम 䵶꩛बदं ुपर श驐⣯य हो जाता है

Correct Answer :­is in the direction opposite to the direction of its motion/ कᅰ 楂दशा
उसकᅰ ग뽜麫त के 径वपर壨氿त 楂दशा म몛丿 होती ह ै

13)

Question Stimulus :­

Nature of sound wave is?/ڞ뻕व뽜麫न तरगं कᅰ Კ經कृ뽜麫त कैसी ह?ै

transverse/ अनᲙ經鎝थ     

longitudinal/ अनदुैڞ뻕य䎓卵

electromagnetic/ 径व磐濞यतु च㸊꣟बकᅰय

seismic / भकू㸊꣟पीय तरगं몛丿



Correct Answer :­longitudinal/ अनदुैڞ뻕य䎓卵 

14)

Question Stimulus :­

A sonar echo takes 4.4s to return from a submarine. If the speed of sound
in water is 1500 ms–1, then the distance of submarine from the sonar is­/
एक सोनार Კ經뽜麫तڞ뻕व뽜麫न एक पनडु뮗硝बी स ेवापस लौटन ेम몛丿 4.4 सकेꚛ廆ड लतेी ह।ै य楂द पानी म몛丿 ڞ뻕व뽜麫न कᅰ चाल
1500 ms–1 ह,ै तो सोनार स ेपनडुबी ᦃ玄कतनी दरू壨氿 पर ह?ै

1500 m

3000 m

3300 m

3600 m

Correct Answer :­3300 m 

15)

Question Stimulus :­

Earthquakes are generally followed by?/भकू㸊꣟प सामा驐⣯यतः ᦃ玄कसके पꜤꪔचात ्आत ेह?

rain/वषा䎓卵

after shocks/शॉꅴ퓫स के बाद

thunder/तफूान

lighting/ त抉佼ड़त

Correct Answer :­after shocks/शॉꅴ퓫स के बाद 

16)

Question Stimulus :­

Stars appear motionless because?/तार ेग뽜麫तह壨氿न Კ經तीत होत ेह ꅴ퓫य⸟ⷺᦃ玄क?

they move with the same speed as that of the earth/ यह उसी चाल िजसस ेप閽誖वी ग뽜麫त करती है
के साथ ग뽜麫त करत ेह



they do not move at all/ यह 䵶꩛ब捤誁कुल ग뽜麫त नह壨氿 ंकरते

they are very far away from the earth/ यह प閽誖वी स ेबहतु दरू ि鎝थत होत ेह

their speed is extremely slow  /इनकᅰ चाल अ�य乱धक धीमी होती है

Correct Answer :­they are very far away from the earth/ यह प閽誖वी स ेबहतु दरू ि鎝थत होत ेह 

17)

Question Stimulus :­

Plastic and rubber are _____/ 㽴껦लाि鎝टक और रबर ह ै_____

charged bodies/ आवे铇शत 径पꚛ廆ड

conductors/ चालक

insulators/ अचालक

none of these/ इनम몛丿 स ेकोई नह壨氿ं

Correct Answer :­insulators/ अचालक 

18)

Question Stimulus :­

In an electrolytic cell, the electrode which is connected to the positive
terminal of a battery is called?/एक 径व磐濞यतु अपघ곤茬य सले म몛丿, वह इलꅴे퓫흏鈥ाड िजस,े बटैर壨氿 के
धना�मक ट铇म䎓卵नल स ेसयंोिजत ᦃ玄कया जाता ह,ै उस ेकहत ेह?

Anode/ऐनोड

Cathode/ कैथोड

Antinode/ ए驐⣯ट壨氿नोड

None of these/ इनम몛丿 स ेकोई नह壨氿ं

Correct Answer :­Anode/ऐनोड 

19)



Question Stimulus :­

Sweating causes cooling by?/पसीना आन ेपर ठꚛ廆डपेन कᅰ अनभु뽜麫त___ 磐濞वारा होती ह?ै

conduction/ चालन 磐濞वारा

radiation/ 径वᦃ玄करण 磐濞वारा

convection/ सवंहन 磐濞वारा

evaporation/वा迉ׄपो�सज䎓卵न 磐濞वारा

Correct Answer :­evaporation/वा迉ׄपो�सज䎓卵न 磐濞वारा 

20)

Question Stimulus :­

Fahrenheit scale divides two fixed point into?/फारनेहाइट पमैाना दो  ि鎝थर 䵶꩛ब驐⣯दओुं
को ᦃ玄कतन ेभाग⸟ⷺ म몛丿 径वभािजत करता ह?ै

180 parts/180 भाग

212 parts/212 भाग

100 parts/100 भाग

32 parts/32 भाग

Correct Answer :­180 parts/180 भाग 

21)

Question Stimulus :­

Turpentine oil can be purfied by?/तारपीन के तले का श径덒ಯकरण कैस े ᦃ玄कया जाता ह?ै

Vaccum distillation/ कम दाब पर आसवन 磐濞वारा

Fractional distilliation/ Კ經भाजी आसवन 磐濞वारा

Steam distillation/ भाप आसवन 磐濞वारा



Simple distillation/ साधारण आसवन 磐濞वारा

Correct Answer :­Steam distillation/ भाप आसवन 磐濞वारा 

22)

Question Stimulus :­

Aspirin is an?/एि鎝प⮜रन एक____ह?ै

Antipyretic/ ती끔搔䟷殐वरनाशी

Antiseptic/ रोगाण ुरोधक

Antimalarial/ मले⮜रयारोधी

Narcotic/ नारको楂टक

Correct Answer :­Antipyretic/ ती끔搔䟷殐वरनाशी 

23)

Question Stimulus :­

The main structural feature of proteins is?/Კ經ोट壨氿न का म᧒䄳य सरंचना�मक ल勶滏ण ꅴ퓫या ह?ै

an ester linkage/ ए鎝टर आब驐⣯ध

an ether linkage/ ईथर आब驐⣯ध

the peptide linkage/ प㽴े껦टाइड आब驐⣯ध

all of these/ उपय䎓ु卵ꅴ퓫त सभी

Correct Answer :­the peptide linkage/ प㽴े껦टाइड आब驐⣯ध 

24)

Question Stimulus :­

Which one is the complimentary base of adenine in one strand to that in
the other strand of DNA?/ DNA के एक कुꚛ廆डल壨氿 म몛丿 उपि鎝थत ए抉佼डनीन 勶滏ारक का दसूर壨氿 कुꚛ廆डल壨氿
म몛丿 परूक 勶滏ारक ह?

http://dict.hinkhoj.com/words/meaning-of-%E0%A4%B0%E0%A5%8B%E0%A4%97%E0%A4%BE%E0%A4%A3%E0%A5%81%20%E0%A4%B0%E0%A5%8B%E0%A4%A7%E0%A4%95-in-english.html


Cytosine/ साइटो铇सन

Guanine/ गआु뽜麫नन       

Uracil/ यरूे铇सल

Thymine/ थायमीन

Correct Answer :­Thymine/ थायमीन 

25)

Question Stimulus :­

Ascorbic acid is called as?/ए鎝को䵶꩛ब䎓卵क अ㸊꣟ल कहलाता ह?ै

Vitamin C/ 径वटा铇मन C

Vitamin A/ 径वटा铇मन A

Vitamin D/ 径वटा铇मन D

Vitamin B/ 径वटा铇मन B

Correct Answer :­Vitamin C/ 径वटा铇मन C 

26)

Question Stimulus :­

Which of the following is not a natural polymer/ 뽜麫न㸊꣟न म몛丿 स ेकौन Კ經ाकृ뽜麫तक बहलुक
नह壨氿 ह?ै

Starch/ 鎝टाच䎓卵

Cellulose/ सलैलूोज

Glyptal/ ि棽Ⲥल㽴껦टल

Glycogen/ 棽Ⲥलाइकोजन

Correct Answer :­Glyptal/ ि棽Ⲥल㽴껦टल 

27)



27)

Question Stimulus :­

Acid rain occurs in areas where –/अ㸊꣟ल वषा䎓卵 उन 鎝थान⸟ⷺ पर होती ह ैजहा?ँ

There are big industries and the atmosphere is polluted with
SO2 / बड़ ेउ磐濞योग ह ैएव ंवायमुꚛ廆डल SO2 स ेᲙ經द径षत ह

There are large plantation of pine plants/ चीड़ के व勶滏⸟ⷺ कᅰ अ乱धकता हो

Citrus plants are grown/ नीब ूके पौध ेउग ेह⸟ⷺ

There are large plantation of eucalyptus/ यकूे铇ल㽴껦टस अ乱धक हो

Correct Answer :­There are big industries and the atmosphere is polluted
with SO2 / बड़ ेउ磐濞योग ह ैएव ंवायमुꚛ廆डल SO2 स ेᲙ經द径षत ह 

28)

Question Stimulus :­

What is not true about homologous series ?/सजात 俁爌णेी के 铇लए ꅴ퓫या स�य नह壨氿 ंह?ै

All the members have similar chemical properties/  सभी सद鎝य⸟ⷺ के
रासाय뽜麫नक गणु समान होत ेह

They have identical physical properties/ इनके भौ뽜麫तक गणु समान होत ेह

They can be represented by a general formula/ इनको एक सामा驐⣯य स왑瑑 磐濞वारा Კ經द铇श䎓卵त ᦃ玄कया जा
सकता है

Adjacent members differ in molecular mass by 14/ 뽜麫नकटवत烸信 सद鎝य⸟ⷺ म몛丿 अणभुार 14 का अ驐⣯तर
होता है

Correct Answer :­They have identical physical properties/ इनके भौ뽜麫तक गणु समान होत ेह 

29)

Question Stimulus :­

How many electrons can fit into the orbitals that comprise the 3rd
quantum shell n = 3 /तीसर ेꅴ퓫वाटंम कोश (n = 3)  स ेस㸊꣟ब驐⣯덒ಯ क勶滏क⸟ⷺ म몛丿 ᦃ玄कतन ेइलꅴे퓫흏鈥ॉन भरे
जा सकत ेह?



2

8

18

32

Correct Answer :­18 

30)

Question Stimulus :­

One mole of  P4 molecules contains?/ P4 अण ुके एक मोल म몛丿 होता ह?ै

1 molecule/ एक अणु

4 molecules/4 अणु

1/4 × 6.022 × 1023atoms/1/4 × 6.022 × 1023 परमाणु

2.4088 × 1023 atoms/24×088 × 1023 परमाणु

Correct Answer :­2.4088 × 1023 atoms/24×088 × 1023 परमाण ु


